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**Einish Day 1: Solving Radical equations***

Notes: Day 2 Polynomial Equations

Example 1: Graph y = x? —9 without a calculator.
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Q1: How are the zeros related to the factors?
Q2: Is this function even or odd? €ven
Q3: Describe the end behavior using limits.
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Example 2: Graph ¥ = (x — 2)(x + 4) without a calculator.
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Q1: How are the zeros related to the factors? OPPOS"‘LG S
Q2: Is this function even or odd? ¢yein
Q3: Describe the end behavior using limits.
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Example 3: Graph y = (x — 2)(x + 4)(x — 7) without a
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Q1: How are the zeros related to the factors? ¢gws/#sS
Q2: Is this function even or odd? 4,/

Q3: Describe the end behavior using limits.
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Example 4: Graph y = (x + 3)(x — 4)2.
y

Nex+ pagL

Unit 2 Page 3



Ne Gz (x ~ T dable ot

ems: w8 X4, K2Y  4F)

i | \/\
' & aSO =l_)ﬂ

» 05 HES
Q1: How are the zeros related to the ?ggtors? Is x = 4 azero? yes
Q2: Is this function even or odd? ,dcl
Q3: Describe the end behavior using limits.
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Example 5: Can you write a possible equation for the given

graphs?
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